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47.6 + 16.7 =  64.3

400.145 + 368.145 =

405.62 + 55.82 =

561.1 + 286.1 =

3.554 + 2.043 =

16.15 + 28.14 =

62.26 + 36.48 =

48.76 + 14.82 =

3.789 + 2.515 =

19.665 + 73.146 =

6.81 + 1.62 =

21.341 + 43.106 =

3.58 + 2.16 =

45.498 + 25.176 =

1.5 + 1.2 =

71.8 + 14.5 =
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Complete the cross-word puzzle with the answers to the addition problems below. Remember, a decimal 
point counts as one cell. Use scratch paper if necessary for showing your work.
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ANSWERS

768.487

461.44

847.6

5.597

98.74

63.58

6.304

92.811

8.43

64.447

5.74

70.674

2.7

86.3

44.29
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